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(b) TS F I A ST g dielfe’ %WW&%

(c) TR femsit Ton =it dReme wifdersr fid qeoian #ed S,

(d) T TS It TAfChT Tetell, 34, Ol A A WINE AT TE Ho.
T I

(1) (a) 00 (b) . 2 (a), (b) U1 (Q)

(3) (a), (b) 30U (o) 4 (@), () () = (q)

Which of the following statements are true ?

(@) Taraknathdas was running ‘Talwar’ periodical in Canada.

(b) ‘Indian Sociologist’ Newspaper in London run by Shamji Krishna Varma.
(c) Sardar Singhji Rana helped revolutionary Hindi Youth at Paris.

(d) Lala Hardayal started Punjabi, Urdu, Gurumukhi language newspapers in America.
Answer Options :

(1) () and (b) (2) (a), (b) and (d)
(3) (a), (b) and (c) 4) (a), (b), (c) and (d)
2, SiEdl o
(a) STEHICH TBTD () STl Fesdei [t
(b) TG TBE (i) Tow frer=en aHyare= sEE faly
(c) <oe] J2aD (i) =fHE gt T S Yion THEHIE AT T R
Yl
(d) WRERl =@Has (iv) 3TIaE e T =G i
it 39
(@ () (9 (d)
1) (v) @) @ (i)
(2 @@ (@ (v) (i)

(3) (u) (v) @) (i
4) @) (@v) (@) @
Match the following :

= R
S’

(a) Ahmadiya Movement (i) Creation through Vahabi Movement

(b) Tayuni Movement (i) Opposition for propagation of Christian religion

(c) Devband Movement (iif) Purification of religious things and eradication of
undesirable traditions of Bengali Muslims

(d) Fariyadi Movement (iv) Emphasison chastity and character of followers

Answer Options :

(@ () (o (d)

(1) Gv) (@) @ (@)
(2) @ @ Gv) (i)
3 @) () @ ()
@4 @ v @@ @
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3. TERIEKS Ewtauwd=a Sea S

(@) T TR @) ‘et

(b) wEEd TeE (i) 'UF A TS’
(c) WA AsHT (i) ‘I’

(d) fedta stmam (iv) "R faa=Ea’
TR 9T

(@ (b) (o (d)
1) (v) (@) @ @
(2) (@ (@v) @ (i)
(3) @y () (v) ()
(4) Gv) @ @ (@)
Match the following regarding Maharashtriyan Drama.
(a) Ratnakar Matkari () ‘Mahanirvan’

(b) TJaywant Dalvi (ii) ‘Eak Ande Phutale’
(c) Satish Alekar (iif) ‘Suryasta’
(d) Dilip Jagtap (iv) ‘Ghar Tighanch Hava’

Answer Options :
(@ (b) (9 (d

(1) () @) @ ()
(2) @ @) @) (i)
(3) () @) (@) (@

@ @) @O @

4. G fGod faum wivien Heeah gafug o1meq ?
(a) ORI AT TEEHHT® THRYEa Uigafaea.
(b) =, Hefow i FeRiEst TEE! € R SR AL e g,
(c) JUTRA AfywrIT= Towg TR Fay el
&) g, TR, T, i, S 99 e T

mﬂ:
(1) = Tl ) fegw swfaem
(3) 3= ifew srmfeuEA (4) Tegmm fafes AdfmoE

Which of the following statements are related to the Association ?

(a) Demands of the people were put-up before the British Government.

(b) V.N. Mandlik and Navrosji Surdunkhi, these leaders merged in the Association.
(c) Stout payment of the European officers was prohibited.

(d) Hindu, Parshi, Muslim, Portuguies, Jues leaders came together.

Answer Options :

(1) Bombay Association (2) Indian Association

(3) East India Association (4) Hindusthan Republic Association

ol HIHATHIS AN /SPACE FOR ROUGH WORK
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TR gt 9 SfaferiTen g FErEl g.ﬂ?.arﬁ%wggarﬁaﬁ"rﬁ
(1) vt oo T (2) Yehe 2EE
(3) T HERE WT9E (4) oy orr fiiTes

went to the UK. on a Government Scholarship to study engineering, but
joined up Savarkar instead.

(1) Shyamji Krishna Verma (2) Mukund Desai
(3) Pandurang Mahadeo Bapat (4) Vishnu Ganesh Pingle
STl o1
(a) TEmH HeAE () Re-w=-dm
(b) TS GHTEE S @) et @m
(c) 3 T & firew fom (i) WR-T HiEhfh T
(d) TEfaER | (iv) Wi-sfea d§x
T I
@ () (© (@
1) @) O @) ()
(2) Gi) @v) () @)
() @ @ Gv) (@)
4) @@ @ @) @

Match the following :
(a) Swami Satyanand (i) Hind-Swaraj-League

(b) Netaji Subhash Chandra Bose (i) Independence League

(c)  Amar Singh and Pritam Singh  (iii) Bharat-Thai Cultural Federation
(d) Rasbihari Bose (iv) Free-India Centre

Answer Options :

@ ® ( (@

1) @) @ @) (i)
(2) @) @Gv) G ()

G @ O @) ()
4) @) @ (v) (i)
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7.

6

HETIYE AT HIvE! faeam siaT oed ?

(a)

(b)

(©)

(d)

2. fagm st =i Ta== da e B,

TYEEE gEar 99 1911 IRF T

Tfgea AfeEeAr ufee HeEsy o e THEE € B

JUATHIS ol Bed Helell T a1 feaian Fey am=mm=n Srihd Jeaqd .

Tt I
(1) (a), (b) 3 (d) 2)  (a), (c) S (d)
3)  (b), (¢) T () (4)  (a), (b), (o) 0 (d)

Which statements are true regarding Satya-Shodhak Samaj ?

Dr. Vishram Ramji Ghole was President at the time of establishment.
Beginning of session started from the year 1911.
Ramayya Venkeyya Ayyavaru was the first President of the first session.

Mahatma Phule organised Essay reading by the women in the theatre at Pune.

Answer Options :

(1)

(3)

(a), (b) and (d) (2)  (a), (¢) and (d)

(b), (c) and (d) 4) (@) (b), (¢) and (d)

Fo= HIATEIS A /SPACE FOR ROUGH WORK
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8. 1857 <A1 ISEAT WEANGTH=N =1 Sl

(a) <A fegmet () HaEd g

(o) W= dow Gi) " enfin HEW €9 U GF F00) 301 J6 WaEEu
S—

(©) THE. TEEE (i) & TN TR AT FRl AUE B W TUH
T SE HH S

(d) =L (iv) ‘U Seam’

Tt 3T

@ (b) (o) (d)

(1) @) @ @Gv) (i)

(2) @) @v) @@ ()

) () (v) (@) ()

4 ) (@) (@ G

Match the following in the context of Revolt of 1857.

(a) Benjamin Disraeli (i) ‘Uproar of 1857’

(b) Stanley Wolpert (i) ‘Whatbegan as a fight for religion ended as a War

of Independence’

(c) G.S. Sardesai (i) ‘It was for more than a mutiny... yet much less
than a first War of Independence’

(d) Dr. Sen (iv) ‘National rising’
Answer Options :

@ () (9 (94

1) @) @ @) (i)

(

(

C

S

@ @ ™ 6 6
@ @ @ G o
@ @ @ 6 6
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9. FHr feamiAl S DA (g WA FIUATHIS RUKERC I et
T Ao o Hae.
1) &= (2) @fEHR (3) w@eut (4) T fasm
The Tilak decided to use the term ‘Home Rule” in place of as the goal of his
movement.
(1) Swarajya (2) Boycott (3) Swadeshi (4) National Education
10. TEREAERE! hEEreAl foRiHE OER T Rd HJa SR shidiert RRIESIER
TEVHT BT,
(1) s fam (2) WTeuE
(3) &R fsm fam 4y eI fym
Bharat Mata Society of Lahor’s revolutionary took an active part against the
Colonisation Act.
(1) Bhagat Singh (2) Mangal Pande
(3) Sardar Ajit Singh {4) Madanlal Dhingra
11, G&Fdt oo I aTd S9y WU 1857 91 I81d 3TH T gfesE g
(1) T=g, <X () S fegaen
(3) = aEE 4) AIM I
The popularised the view that the Revolt of 1857 was a conflict between
Civilization and Barbarism.
(1) W. Tayler (2) Benjamin Disraeli
(3) V.D. Savarkar (4) T.R. Holmes
12. 1866 TEH I WIS . Tecema dode wresl wT wEE ST
1) e (2) HRmERE (3) HERTR (4) sfeme
The Deoband school founded in the ___ District of the Uttar Pradesh in 1866.
(1) Lucknow (2) Moradabad (3) Saharanpur (4) Aligrah
13. 71 fasmmi werm ‘Efead sfcaye Sitw TaTarst’ (1) TTeT F0Ed 371 ?

(1) fewo (2) P (3) TR 4) =
The First Indian Institute of Technology (IIT) was established at . .
(1)  Delhi {2) Kanpur (3) Kharagpur (4) Chennai

FHEAT FHHEIS ST /SPACE FOR ROUGH WORK
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14. 1857 < HIRHS 316 TIGIGUHRT Il ATTHRIH TS el Bl ?
(@) iR (b) TONIS (© *oR e (d) UsEEA
et Il
(1) (a) T (2) (=) SO (b) T
3) (o) K (4)  (b), (o) 3V (d) e
Which officer among the following suppressed the 1857 revolt in Kolhapur ?
(a) Jacob (b) Glaspool (c) Major Daniel (d) Robertson
Answer Options :
() (a) only (2) (a) and (b) only
(3) () only (4) (), (c) and (d) only
15. ‘JF WERE A1 & FES won faeniaa et 2
(1) IR Yig TEEH @) Tl 9 IS I
(3) IS W @) STY YRS
Who had developed the institution ‘Dnyan Prasarak Sabha’ ?
(1) Dadoba Pandurang Tarkhadkar (2) Dr. Bhau Daji Lad
(3) Balshashtri Jambhekar (4) Jagannath Shankarseth
16. USTE G¥= vfgedn bEyHE Hivd U9 WAG w09 37 ?

(a) TR WIGH! HIAE AT,

(b) TR T TGS TAERT 24 TY T,

(c) ew «ifwe (YRT HEa) @ FE.

(d) o= T9 defquan Iq .

gl S

(1) (a) 3 (b) (2 (), (b) AMTE) (3) (a) 3 () 4 (9= (d)
Which resolutions were passed in the first session of National Assembly ?
(a) Annexation of Brahmadesh.

(b)  Age limit for civil services should be of 24 years.

(c) India Council (Bharat Mandal) should be cancelled.

(d) Army expenditure should not be increased.

Answer Options :
(1) (a)and (b) (2) (@ ()and(d) ) (a)and () (4) () and (d)
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17. 3RHY Jadas A & Fl.
(1) W HEE FEASEH (2) ©ER e
(3) ot Tom sEHe ) Fafar we
Ahmedia movement started by .
(1)  Sir Syed Ahmedkhan (2) Lahori Party
(3) Mirza Gulam Ahmed (4) Quadini Party

18. 1893-94 I HTe3 ‘= & HR g’ A1 Frdewr org Ao o fedst 2

(1) s = (2) =t feew
(3) ol TSI T 4) fadFeg oo
Who wrote the a series of articles during 1893-94 entitled “New Lamp for Old” ?
(1) Arbindo Ghosh (2)y B.G. Tilak
(3) Lala Lajpat Rai (4) Bipinchandra Pal

19, 3TY YU FEIGamRIAT 2004 Qrat A EATAE TEIh 0 e,
(1) T3 T (2) SPTHE
(3) gEE AEg 4) TSRERG
In 2004, Naxalites assaulted the former Chief Minister of Andhra Pradesh.
(1) N.T. Ramarao (2) Jagmohan Reddi
(3) Chandrababu Naidu (4) Rajshekhar Reddi

20. =T AAYAES QU A T Wood! Terrg T sEe =41 |igde
fo—uret g7 afeTa FERsT= FrEwAe e Hem,
1) =ufa. T (2) ¥iHWE 39
(3) Tervivere Teame (4) 0 TS HeTR
The Maharashtra Civil Disobedience Committee established at Pune under the
Presidentship of received support to the operation Civil Disobedience at
Vile-Parle.
(1) V.V. Dastane (2) Shankarrao Deo
(3) Kishorlal Mashruwala (4) Anant Vasudeo Sahastrabuddhe

FHT SIS AT /SPACE FOR ROUGH WORK
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21. ¥ werSnfa Fw faum 9T e ?
(a) T FEEIH! SfEIGR B R F
. (b) e s daie 5 wivemr e T wee T TR
(c) T e g Ufed Teed € TemH® d 3T FHTee STt 8.
(d) oy & favan fomtae sngm SRS
i 6
1) @3 @E) @ () 3) (b) 4 (), (0 3(d)
Which statements are true regarding Arya Samaj ?
(a) Swami Shradhanand established Sabha for upliftment of down-trodden people.

(b) There is no co-ordination between Western and Eastern syllabus in his Samaj.

(c) Swami Shradhanand and Pandit Gurudatta, leaders of Punjab were the followers
of Arya Samaj.

(d) Established orphanage for orphans and widows.
Answer Options :

(1)  (a) and (b) () () and (d) (3)  (b)only (4)  (a), (c) and (d)

22, WAS AUHEET TG IS e,
(a) 3T A FATTT ARSI T HS.
(b) F T T FS,
(c) ToTEETRE A9 ey defHr T e,
(d) IR 7 Sifumes A1 AMER S99 & Fedl

i I
(1) e facaq dfew (2) TS FHHASH
(3) o o 4) o€

Identify the Governor General by the following description.

(a) Supreme Court was established at Agra.

(b) Kurg state was annexed.

(c) Revenue-Board was established at Allahabad.

(d) Peninsular and Oriental Shipping Companies were started.
Answer Options :

(1) Lord William Bentinck (2) Lord Cornwallis
(3) Lord Dalhousie (4) Lord Rippon

oAl HIMEIS T /SPACE FOR ROUGH WORK
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23, TEIEAR! Tgdifawd WS@UE FHIoH! a9 ataT aTed ?
(a) oS faram sfewn ITafa=l e & SR ST ITHR] AFRIATT A6 &1 90 e,
(b) AEA o€ Fr= SHEETS YAF TS IS d Tfedh THA A 768 TR Fo.
(c) TeIER & S WeITHl {UR I Faod! ol
it 39T
(1) () AT (b) 2)  (b) = (c) (3) @ @A) @) (©FH
Which of the following statements are true regarding Mahalwari System ?

(a) In consideration with the produce of farming, Lord William Bentinck formulated
Land Revenue Rule.

(b) Under the observation of Martin Bard, maps were prepared regarding Fertile Land
and Barren Land of each village.

(c) Lambardar and Sarpanch of the respective village were given concession.
Answer Options :

(1) (a) and (b) (2)  (b) and (c) (3) (a) (byand {c) (4} (c)only

24, wireRETen fftHfaw Hor faus g ened ?
(a) aFoTRTE HH 16 fedaw 1971 s A,
(by Fafti=n 32 78 Tfrarris o R g SwRHe SRe ULH. FaEh aemene @,
(c) AFS YA FFAL TS FRA fig o7 T 2.
it I
() @3 @ @b @) (@ (4) R TR
Which statement is wrong regarding creation of Bangladesh ?

(a) Bangladesh was created on 16 December 1971.

(b) Lieutenant General A.A K. Niyazi was the leader of East Pakistan Army at the time
of creation.

(c) At that time Lieutenant General Jagjit Singh Arora, was the leader of Indian Army.
Answer Options :

(1) (a) and (b) (2) (a) and (c) (3) (a)only (4) None of these

HoAT HIATETST AT /SPACE FOR ROUGH WORK
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25, 9 e 9 dehden 1Eet (iean sthHt” € WX o TYT et gxit ?

(1) TSTUH Higa 14 (2) Ol TFFE Wl

(3) TP THEH (4) ¥yt dg fammER

Who was established the ‘Indian Academy’ to study the Western Culture and education
system ?

(1) Rajaram Mohan Roy (2) Swami Dayanand Saraswati

(3) Ramakrishna Paramahansa (4) Eshwar Chandra Vidyasagar

26. WSS HIUE FEEAHER WREE yHVE Ty svan et o ?
(1) 80°30' Y& (2) 82°30° Q& (3) 82215 uf\mw (4) 82°30’ 4fE=H
According to which of the following longitude, the Indian Standard Time is determined ?
(1) 80°30' East (2) 82°30' East (3) 82°15' West  (4) 82°30' West

27. WY sta] faum s :

(a) TY-oI-TEE & wRd a9 FaT=0 N o
) HEHIEORE & 4310 Hiel I IR,

(c) 2006 &1 B AN Gl FI0FT e

(d) ¥ W= i AnT e ),

=

it 39T
(1) (2) 9 (b) TR ) (@), (b) T () TR
(3) R (¢) SRS (4) =& T

Identify the correct statements of the following :

(a) Nathu-la-pass is situated between India and China.

(b) Its height above-sea level is 4310 meters.

(c) It's opened in 2006.

(d) It's a sub-part of old silk route.

Answer Options :

{1) ({a) and (b) are correct (2) (a), (b) and (c) are correct
(3) Only (c) is correct (4) All are correct

FHeT HINTES WRT /SPACE FOR ROUGH WORK
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28. ‘wiead fed sfean’ = g ows :
(1) foeaq <M 2) T
(3) AR THEEA (4) U Tw. i it féer
The author of the book ‘Prosperous British India’
(1) William Digby (2) N. Mani
(3) R. Ramchandran (4) Paul L. Knox and Linda
29. T - 1 7701 GTe - 11 Fi=a1 S o,
Tt - 1 T - 11
( writw frafe vt ) (W)
(a) Toem () T=w™
(b) Rl (i) wWeA IHH
(c) HHE> (i) WA SR
(d) @ (iv) wElie
Taidt I
@ (b)) () (d)
1) @) @@ ) @
(2) G (@) @ ()
@) @ ) @ @
4 @ O @) ()
Match the List - I and List - IT and select the correct answer.
List - 1 List - 11
(Primitive Subsistence (Region)
Farming)
(a) Milpa (i) Vietnam
{(b) Roca (ii) Central Africa
(c) Masole (iliy Central America
(d) Ray (iv) Brazil
Answer Options :
@ (b)) (o (9
1) @) @ @) @
(2) @) (D) @O @)
() @ v) @@ @
@ @ O @ @)

THeedT THIHMES A /SPACE FOR ROUGH WORK
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30. WRATTS HBAE Ug TOoTH HIvHl Hieas i g ?
(1) onfda seEs (2) TiSaH HOES
(3) T FoEs (4) HAfowsar TGS
The coal belts in India were developed during which of the following period ?
(1)  Archiean period (2) Gondwana period
(3) Tertiary period (4) Recent period
31. WioD oA ST STRSIaR HISU S& 9Rg Hwaarl fag 1.
(@) W (b) TR
(c) wERE (d) ST ST FRAR
() WeA WM
waiE I
1) ®) @, (@) () (© 2) () (e) (0 (a). ()
3 ®) (), (@) © @ @ ®) @) @) () W)

Arrange the following according to descending area of the state and choose the correct
sequence.

(a) Uttar Pradesh (b) Rajasthan

() Maharashtra (d) Jammu and Kashmir
(@ Madhya Pradesh

Answer Options :

1) (b), @, @) () (2) (), (e), (o) (), (d)
(3)  (b), (e), (d), (), (a) 4) (b), (o) (@), (e), (9)
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32, VI SFTOET 2011 T9R HIeR SF1 WO

(1) & Fuiven iy sarE el FUE S ST HIURAR WNgT fog wehd, 9T Ied
RIECNEIEE HRE T

(2) HET ST e i TG ASH A [ T R WNGH Fae ar Uehd.
(3) I e e 31 99 STETH et R ST IR YHge Hdes fog I,
(4) et FE.

According to census of India 2011, literate person means :

(1) any person above the age of seven, who can both read and write with understanding
in any language.

(2) a person aged six and above who can only read in any language.
(3) a person aged seven and above who can only write in any language.

(4) all of the above.

33. W% (SAARC) TN &M ?
(1) fash SR FEe (2) gfeor smifern Wee
(3) Sfeor-vd onf¥ramE vt HueT (4) =dent TR
What is ‘SAARC’ ?
(1) World Trade Organisation (2) South Asian Association

(3) Association of South-East Asian Nations (4) None of these

AT RIS AT /SPACE FOR ROUGH WORK
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34, i e i A @ feden yataren SuEm w6 srees S e

@
i
(@
)
()

e - 11
(9E e )
HRYET
frafidt
TS

Match the following and select the correct answer using the options given below the list.

e - 1
(frEn)
(a) TRRTER
(b) TS
() TR
@ g
Taidt I
@ b ()
O @ @ 6
@ ) @ @)
@) (v @) i)
@ 6 G @)
List - I
(Peaks)
(a) Gurushikhar
{p) Dhupgad
(c) Salher
(d) Dodabetta
Answer Options :
(@) (b) (o)
1 @ ) @
(2) (@) @ )
() (v) (@) ()
@) @ @) W

List - 11
(Mountain ranges)
Satpuda

Nilgiri

Aravali

Sahyadri

FoAT RIS AT /SPACE FOR ROUGH WORK
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35. Wiele wyHEdEl wievl @i foyagd I SiTER 9.

(a) forwin (b) R (c) H (d) SR

Tt 3=

1) (@, ()@, (d (2 © @ b)) @) (0 d), @b & (o b)) @

Arrange the stations according to their distance from equator.

(a) Shillong (b)  Kolkata (c) Mumbai (d) Jodhpur

Answer Options :

(1) (@ b) @ (d (2 © @ b)) @) () @ b & (©b)(d) (@
36. WSIGUHR! HIUE ' FAER! TG GO 99 S0 AR ?

(1) el S ArE 9= Heidl

(2) Wl S TSR U g HeE Y

(3) el 0T gt ArEr Hey

(4) Sl S0 STEHhTE HHeA Fid HHqY

Which of the following is the direct “Ryotwari” system ?

(1)  Relationship between the farmers and Government

(2)  Relationship between the farmers and Political Party

(3) Relationship between the farmers and Patil

(4) Relationship between the farmers and N.G.O.
37. WE® WEgeiE (MENE) MNEES Qaiften Sic HIodl MHEedie YTl Sesrd ?

(1) FS-o1 fohan SS-FAMTaT I (2) wfaded s
(3) S ATge (4) H-faae aoige

Which of the following language family is spoken by the largest numbers of people in
India ?

(1) Indo-Aryan or Indo-European family (2) Dravidian family

(3)  Austric family (4) Sino-Tibetan family

FoAT HIEMEE AT /SPACE FOR ROUGH WORK
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38. WHT el Yeqd e feoedn qariis! anea Ty faer F SwCa.
( IR ) (foeR)
(a) feteam @) FER
(b) Al (i) STEHETR
() TeFd (iii) TS
(d) VISR (iv) TS
it I
@@ () (9 (d)
1 @ @ @ )
2) Gv) (@) @ @
@) @ @) (@) ()
@ @ @ (@v) (i)
Match the following and select the correct answer using options given below.
(Sancturies) (Districts)
(a) Tipeshwar () Kolhapur
(b) Karnala () Ahmednagar
() Rehekuri (i) Raigarh
(d) Radhanagari-Dajipur (iv) Yavatmal
Answer Options :
(@ ®) (0
1 @ @ 3§) @)
) @v) @) @@
(3) (@@ @v) @) @
@ @ @) @) ()
HoeAT HIHMMIS! AT /SPACE FOR ROUGH WORK
P.T.O.
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39.

20 A
‘& semT 1 7Y FE AT 2
(a) TREAAHE M STeIEw AR,
(b) T AR T AP 7,
(c) TFFIN el Sead fam ey agd o Arl.
(d) TOM S TH T8 JITgR JgA o #rl,

Wfﬁﬁ:{':
1) (@) 7 (b) R (2) () ¥ (d) SR
(3)  (b) I (4) (o) R

What is the meaning of ‘Green Corider” ?

(a) A route of the forested area covered by trees.

(b) A route of the tree plantation both side of the road.

(c) Donated body parts to carry out the road without abstracle route.
(d) The loaded truck are carry out on the railway route.

Answer Options :

(1) (a) and (b) are correct (2) () and (d) are correct

(3) (b) is correct (4)  (c) is correct

40.

1 Tf® 1960 AL ETH@HEH! IV SIS Ieedl FaH IR ISSH TS 2

(1) ¥ -1 (2) O 1

(3) THIUY -8 (4) fe ARG, - 1

Which of the following world’s first weather satellite was launched on 1% April 1960 ?
(1) Sputnik - 1 (2) Explorer-1

(3) SES-8 (4) TIROS-1

HeHT THIFTES AT /SPACE FOR ROUGH WORK
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41, EE UG ¥ SIS Gares @ T I 3.
(1) F e (2) e T
() M ferre (8) FIFER TeAren
Mount Everest the highest peak in the world is located in Mountain range.
(I Kumaon Himalaya (2) Nepal Himalaya
(3) Assam Himalaya (4) Kashmir Himalaya

42. WO AR Haiq @eM feal Fue ?
(1) w= e (2) W& (3) owE (4) M|
Which of the following is smallest district in India ?

(1) Central Delhi (2) Mahe (3) Lakshadweep (4) Yanam

43. WHBYH! RV gaT FERle fdte, g1 onft S weral agg o wy W, A
SNfUT FIORT Tehiel HHGR 3 ?

(@) R aI e vaErE! qured ga (b) <o AT

(c) e T (d) T
ﬂ?ﬂ'ﬂ'}?ﬁﬁ‘:
(1) (@) 31 (b) (2) W (b) @) @@ (4 wH ()

Which of the following soils are rich in phosphoric acid, lime and organic matter but they
are deficient in potash, nitrogen and phosphorus contents ?

{a) Chestnut or grey brown soils (b) Peaty and marshy soils
{c) Alluvial soils (d) Tarai soils
Answer Options :

(1) (a) and (b) (2) Only (b) (3) (o) and (d) (4)  Only (c)

HoAT HETHES AT /SPACE FOR ROUGH WORK

P.T.O.
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44. W fom & =t wfshn e,
(1) <XEE 391 e (2) o frag fawgd 0
() T T I (4 =i T
Human development is a process of _
(1) Increasing per capita income (2) Enlarging people’s choice
(3) Enlarging GDP (4)  All the above

45. ‘i’ HEmdt TR UrEal HIVCHT ST FEHES Saq e T 3T 2

(1) = (2 = (3) Twe (4) =
“Tanda’ culture is still preserved in which of the tribal community ?
{1} Banjara (2) Vanjari (3) Bhil (4) Bari

46. TESGUH! HIE HRMEIRE 370 1 3901 qroar=n yae fafor g ?

(1) &< TRER (2) FeTfEH HEEIR

(3) aTfE® FEHIR (4) W HETEFR

Al Nino warm ocean water current develops in which of the following ocean ?
(1) Indian Ocean (2) Atlantic Ocean

(3) Arctic Ocean (4) Pacific Ocean

47. WSGTR! FIE d anfef fammEm aof wa au enfdE AN TRt ?
(1) T IS I Jel Baga FHT 81l

(2) TIEE IO T8 AF v

(3) ZEme faskrEeTd 9TE w,

(4) WA MisTSHHTHY gl

Which of the following terms describes ‘Economic Development’ but not ‘Economic

Growth” ?

(1) Steady decline in the agriculture’s share in GNP.
{(2) Steady increase in Per Capita Income.

(3) Increase in Country’s growth rate.

(4) Increase in Capital formation.

oAl HTATHTS A /SPACE FOR ROUGH WORK
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48. W Eee A M IRAKIS FI0R T4 Y@ SeHaHE T2 TE F 2
1) sfaE, e-am,
2) sfaeE, 8- 3r, Hifer
(3) uMfeay, Afedag, W AEiiss
Sir Herbert Risley has identified which three main racial groups in India ?
(1) Dravidian, Indo-Aryans, Negrito
(2) Dravidian, Indo- Aryans, Mangolians
(3) Mangolians, Mediterrianean, Proto Australoid

(4) Proto Australoid, Indo-Aryans, Dravidian

49, wEHfesE FawE ARETRHS B FAMM qEEdEl Yo AT 3.
(1) ENSO 2) 10D 3) IOBM (4) MODOKI
The dominated mode of climate variation in the tropical Pacific Oceanis .
(1) ENSO (2) IOD 3) IOBM (4) MODOKI
50. TeRIIG TERN =Sord faate Fon Srafae o, § Srefavemniia RIRFGIEIIG NN
HeA S,
(a) & T (b) THE T
(c) TS qgdl (d) T8 TEdt
it 39t
(1) (a) ¥ (b) SN 2) (b) SR
(3) (o) 9 (d) TR 4) () =R
Distribution of any variable to continue show in the map, to use to show this method
{(a) Cloropleth method (b) Isopleth method
(c) Coloershed method (d) Graph method
Answer Options :
(1) (a) and (b) are correct (2) (b) is correct
(3) (¢) and (d) are correct (4) (c) is correct

HoAT HMMEE 9T /SPACE FOR ROUGH WORK

P.T.O.
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51.

24

FE T AT SUE deYEEd SIS o,

(B)
T T e favamemEy sme
HLOTE HEeHl AfTHR
Hoed dufe dufasr
HOTETO=T Shiedid TS favarsgyl
FEC HOGET HHeHl SATHHR
FOGMET gHqHEl AfYERR

(B)
Power of Parliament to legislate with
respect to matter in the state list in the
national interest.

Parliament’s residuary Power of legislation.

Power of Parliament to legislate with
respect to matter in the state list during an
Emergency.

Power of Parliament to legislate for two or
more states by their consent.

(A)

(a) hOH - 248 (i)
(b) heH - 249 (ii)
{c) hoH - 250 (i)
(d) <heH - 252 {iv)
it I

(@ () () (d
(1) @ @ @) v
(2) () (i) () ()
3y (@ @ i) )
(4) @) (@v) @@ (i)
Match the Pairs with regard to center - state legislative relations :

(A)

(a) Article - 248 (i)
(b) Article - 249 (i1}
(c) Article - 250 (iii)
(d) Article - 252 {iv)
Answer Options :

(@ (b) () (d)
O O @ ) @)
(2) Gv) @@ (@ ()
3 @ @ @) @)
(4) @) @) @O @

oIl HIRTHS AR /SPACE FOR ROUGH WORK
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52. @ faum faammE =
(a) TS YUY Heoaar T iT AUl =it e wehd.
(b) TS sTUiEvi= HIvve UG Qe WU A G Aig-a1e 377 Smeie ST,
(c) U STNAUI=AT HINOIS] HE=AT Qial AUNEHT Hrel SgAar =l ool g,

(d) TS TT SToiarvi= SIon FIEE d@ A6 3 hdld IS S Wl TS

.
@I Fiv faum/3 SER o1/ ?
(1) FK (a) () (a), (b) FATM (c)
(3) WK (d) @) (o) = (d)

Consider the following statements :
(a) The President can declare a National emergency on the advice of the Prime Minister.

(b) The proclamation of National emergency must be approved by both the Houses of
Parliament within two months.

(c) The proclamation of National emergency must be approved by both the Houses of
Parliament by a simple majority.

(d) The proclamation of National emergency may be revoked by the President at any
time, without Parliamentary approval.

Which of the above statements is/ are correct ?
(1)  (a) only (2) (a), (b) and ()

(3)  (d) only (4) (9 and (d)

HoAT HIFEIS AT /SPACE FOR ROUGH WORK

P.T.O.
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53. 3 AMATA YeHid Greftes fauM foam=m =
(a) T AMGERS A IR I .
(b) T AGAR S AR 9 TS 237 TEqa aidl 4.
(c) Io1 AECAMIS AT Far= 66 21 T TaTe 1 vishar.
FEYh! v /<0 a9 /3 S s/ 7
(1) W () () @) 3) (b)) AAE (4 ()
Consider the following Statements regarding high courts :
(a) The Judges of High Courts are appointed by the Governor.
(b) A Judge of a High Courts can resign his office by writing to the President.
(c) A Judge of a High Court can hold officc until he attains the age of 66 years.
Which of the Statement/s given above is/are correct ?
(1) Only (a) () @and() () Mand© @) Only(b)
54. @ fauM fa=me =

(a) T=Iei frae favm e TeaFza sty uEH Sof 9.
(b) TS oA HEAHS GHE 379w,
(c) TTHRUA: TooadTe= o 9= Juidre! et 9.

S@Th! R /A faaT /3 a3 e/d 2
(1) ¥ (a) (2)  (a) Sfo (b)
(3)  (b) @ (c) (&) (a) =00 ()

Consider the tollowing Statements :

(a) The Governor is indirectly elected by a Specially Constituted electoral college.
(b)  The Governor is the constitutional head of the State.

(c)  Generally the governor is appointed for five ycars.

Which of the Statement/s given above is/are correct ?

(1) Only (a (2) (a) and (b)

(3) (b) and (c) (4) (a) and (c)

oAl THIMMEE 0N /SPACE FOR ROUGH WORK
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55. (2011 T qoea Foca) Fasus A7 (R0 &ftr Jeg) e 1968 wHM eiya T
E‘Uﬁ:

(1) A W O qeeret e faw

2 e wefau=n sgfed S i S Steariee! TeE faw
(3) wIURETE TSI e | fooo faw

4) TEE TS vaiEe T e

According to Election Symbols (reservation and allotment) order 1968, (as amended up to
2011) a reserved symbol means :

(1) A symbol reserved for a recognised political party

(2) A symbol reserved for SC and ST candidates contesting elections
(3) A symbol not allotted to any political party

(4) A symbol reserved for national political parties

56. U= fragus uirast S aftrey Hiom ?
(a) yoaw s
(b) THE HHAY Favsdr
(c)  METIF HAl= He
(d) symRR Ffaffuem

= 14ty foer
(1) (a) 3 (b) (2)  (b) 3 (c)
(3) () fo () 4) (), (), () M (d)

Which are the salient features of the system of electing the President ?
(a) Direct Election

(b) Single Transferable Vote

(c) Quota of required Votes

(d) Non Proportional Representation

Choose the correct option :

(1) (a) and (b) @ () and @

(3) (c)and (d) (@) (a), (), (©) and (d)

HoAT RIWES AT /SPACE FOR ROUGH WORK

P.T.O.
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57. VA gk N Avicyiceh qwd Aol GaUd SISGus! Hive faur/ faum Stek =l /a ?
(a) WOYd T FEGERUE ed T ANIEER a8 rafeamriE TR
(b) SR SRmed ded i Frer T SRt gend ekl HieeE Trade e fae s,
(©) TSTII=A SR 31-C 3T Fid Aniays qei Jovg gamasT mH= 5o o,
it Y
1 (a 2 (b
(3) (b) = (c) (4) et e

Which of the following statements related to Fundamental Rights and Directive Principles
is/are incorrect ?

(a) Fundamental Rights are justiciable while Directive Principles are nonjusticiable.

(b) In case of conflict between the two, generally Fundamental Rights are given
Precedence over Directive Principles.

(c) Article 31-C of the Constitution gives Precedence to some Directive Principles over
certain Fundamental Rights.

Answer Options :
1 () 2 (®
(3) (b)and (c) (4) None of the above

58. TFEeES ol SfEvan dewidie GieTenn g h (3T - 20).
(1) U sofiamfen wer Tl (S w& wehar.
(2) T THRAT SOSTOeA] el 9] fBfEd o Wehdr.
() TEiE Al JaEHdH T HIEl det fefdd S Wl
) ol uiferdia Mofed €% wd @

Right to Protection in respect of conviction for offences (Article - 20).

(4

(1) Can be suspended by the President during a national emergency.
(2) Can be suspended by the President during all types of emergencies.

(3) Can be suspended by the President with the prior approval of the Supreme Court at
any time.

(4) Cannot be suspended under any circumstances.

el HITEIS AT /SPACE FOR ROUGH WORK
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TWEHGTH HUE/d faem/S Ste am/a?

(a) TRV STy o PR Hew 3TH.

(b) WiTHEm TeaaH@l SEET TH.

(€) UL JESAHEl T e T dad sl Sl.

ot I

(1) (a) 30T (b) (2) (o) S (o)

(3) (a) F () @ (@), () 3 ()

Which of the Statement/s given below is/are correct ?

(a) The Chairman of the Rajya Sabha is its member.

{b) The Council of ministers is not responsible to the Rajya Sabha.
(¢) The Proposal to remove the Vice-President is initiated only in the Rajya Sabha.
Answer Options :

(1)  (a) and (b) (2) () and ()

(3) (@ and (o) (4)  (a), (b) and (o)

60.

AT FOA WY YOS Soioasht vt A sfeag 3w ?

(a) @ favreH (b) T TR

(c) ¥ ATHES d) TR #EHez

(e) fofiEa Tsg=eT

T S

(1) ® (a), (b), (c) (2)  ®K (a), (<) (d), (e)

(3) P (a), (b), (d), (e) (4) 0o wE

Which of the following features of a Federal System are seen in the Indian Federation ?
(a) Distribution of Powers (b) Dual Citizenship

(c) Independent Judiciary (d) Bicameralism

(e)  Written Constitution

Answer Options :

(1) Only a), (b), (<) (2)  Only (a), (), (d), (¢)
(3) Only (a), (b), (d), (e) (4) Al of the above

HoAT HHEHS A7 /SPACE FOR ROUGH WORK
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61. WER favawERyE Gee faum fFErm = .
(@) q FAHLT HE HIES .
(b) O WHIER WEUATEIET U HEAT aTHt g1 30 ey ST
() A= W 9ror giaffad g,
(d) T A e g aemi ST,

TG I /o faur/ = a0ER emR/q?
1) (a), (b) 3T () (2)  (a) (0 (c)
3) (@) (o 3o (d) (4)  (b) ¥nfor (d)

Consider the following statements regarding Public Bill :

(a) Itis introduced in the Parliament by a Minister.

(b) ltis necessary to give one month’s notice to introduce it in the house.
(c} It reflects the policies of the government.

(d) Its drafting is the responsibility of the member concerned.

Which of the statement/s given above is/are correct ?

(1) (@) (b and (9 (2) (@) and ()

() (a) (0) and (d) (4) (® and (d)

62. faum o e s oig fasmayn anftr faym afteg oren SRl Ayred Srotetst i
UMY H&E Yhad ?
(a) Toum oftwes seas
(b)y HHE=E 9T
(c) Taum aftee=n fadedt ger Aan
(d) ToTT= HRfeEE

Tt I
(1) (@), (), () (2) (b) 3T (q)
(3) HF (b) (4) T (d)

Who among the following belongs to the Legislative Council but can speak in both the
Legislative Assembly and the Legislative Council ?

{a) The Chairman of Legislative Council.

(b) The member of the Council of Ministers.

{(c} The opposition leader of the Legislative Council.
(d) The Advocate General of the state.

Answer Options :

1 @ G (2) (b) and (d)
(3)  Only {b) (4) Only (d)

HeAT RIATHIS IR /SPACE FOR ROUGH WORK
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63. TRad ua eI 0T FOIEES QN SOl el WEHE WUH 9G] FHded TSavad
arame oo e ufitee Hewe TeEeA g Al HAfUHR AR v 3% ?
(1) 9= FrEdwd AR ) e
(3) fawri s (4) T A

In Maharashtra who has the authority to remove a member of a Zilla Parishad from his
office on grounds of proved misbehaviour or shameful behaviour or incapacity :?'

(1) Chief Executive Officer (2) District Collector
(3) Divisional Commissioner (4) State Government

64. MGG UaT= SARTSATSA <TETHRIT= TefvEnT yimadsEyd 1o faumite s faum sm@rg
e ?
(1) W Sy ST 124 T HRivEm whaden Ioog HTvam el 3T,
(2) TEwErTEN YRA qEgET hde SREwTd HIg HT A,
(3) NN YT/ et Tl Ge Wi wUH! H Rl 3 .
(4) =T qEEET X Ul SRy g udl Hedr.

Find out the incorrect statement Pertaining to the impeachment of Judges of the Supreme
Court of India.

(1) The impeachment procedure is mentioned in Article 124 of the Indian Constitution.
(2) Notice of impeachment motion can be admitted only in the Lok Sabha.

(3) The Speaker/Chairman of the House decides whether the impeachment motion
should be admitted.

(4) The President passes an order removing the Judge.

65. ‘'oVE wdEEa’ wPe fau e .
(@) T THRY 42 ] FEAGERIA TaHed F0AN ST TR,
(b) THE THEY HOH 51 - A HE HOAT A SR
() & =mafa=moig s,
FhSFT v/ faum/3 o /a2
(1) & () (2) I (b) (3)  (2) ¥ (c) (4) FH ()
Consider the following Statements regarding with “Fundamental Duties” :
(@) These are included in the Constitution by the 42" Constitutional Amendment,
(b) These are included in Article 51 - A,
(c) They are justiciable.
Which of the Statement/s given above is/are incorrect ?
(1)  Only (2) (2)  Only (b) (3) (2)and (c) (4) Only ()

FHol HEES M /SPACE FOR ROUGH WORK
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66. TEIo faumiie! Gus affenfavdt g faun siF Her

1) 9E< Qe a1 S Yahe STEarg Tt afien snfn snfidfs afien.
2) Tt witen s @ 9fien s,

3) ot giEde e 9ieEn g% 9.

4y favrir e wften ar vt aftei=n satd I

Find out the incorrect statement about Parliamentary Committees from the below.

(
(
(
(

(1) Parliamentary Committees are of two types - Standing Committees and Financial
Committees.

(2) Standing Committees are permanent committees.
(3) The work of Standing Committees is of a continuous nature.

(4) Department Related Standing Committees are covered under the category of
Standing Committees.

67. W GlauFde sfaga yegest qEiots oo aweimye s faum i,
(a) TT=9E 345 THR SRSy ™1 U TRIG STHU T 3toan 30 il fofen 68t =i

AfygHa AT A EERTEE T S,

(b) ST 347 HeTeATS HEHI-AT AFH W StEvare iy Sy Hoa e
.

T 3T

1) (@) 2 ()

(3)  (a) 3T (b) (4) FUSTH FHIORE AR

Find the incorrect statement about official language related provisions in the Indian

Constitution.

(a)  Article 345 empowers the states to adopt one or many languages in use in the state
or Hindi as their official language.

(b)  Article 347 empowers the Union to interfere with the decision of a state in regard to
its official language.

Answer Options :

1) (@) 2 (b
(3) (a) and (b) (4} None of the above

FeedT ShIETERT I /SPACE FOR ROUGH WORK
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68. Woe faum faanE =i
(a) THEE Qo R TI8a® Hae HAa HES= HIORER! FURREN Hig wehdl.
(b) SR 3T TEHS ToIseT=a HoUedd TEIN 960 R JHSG T ™ gowiiel WAKIe

T4 T fafirearE aar o

() TSTR TeAgew fabenren e Svare T 39 ¥ e, q94 A=t daess
YAE! qieq Wehd e,

FodE! HvR fauE/ g s/a?

(1) (a) 3 () (2) = (b)

(3) T (c) (4) o W

Consider the following statements :

(a) A bill seeking to amendment of the constitution can be introduced only by a minister
in either House of Parliament.

(bp) If the amendment involves making changes in the federal character of the
Constitution, it requires to be ratified by the legislatures of all the states of India.

(c} The President can neither withhold his assent to the amendment bill nor return the
bill for reconsideration of the Parliament.

Which of the above statements is/are correct ?
(1) (&) and (o) (2) (b)only
(3) () only (4) All above

69. WO fauM faarm = :
(a) YR TF T2 TS - 42 TR I9H 99F PR Hiean on] Et 9 /el o
Hl.
(b) TN & FHM PN Hied AU TS YRAE W §.

(c) ST FEEHA Arovd, e, wevhle, Taw faum o1ftt aran g3 Fiar gHew S,
Tite faumitet o faumA g smra?

(1) (a) ® (2)  (a) ST (b)

(3) (b) 3 (c) (4) HH (o)

Consider the following statements :

(a) Article-42 of the Indian Constitution expects the state to implement a Uniform Civil
Code.

(b) Goa is the only State in India, which has a Uniform Civil Code.
(c) Personal law covers property, marriage, divorce, adoption and succession.
Which of the statements given above is/are correct ?

(1)  (a) only (2) (a)and (b)
(3) (b) and (o) (4) (o) only

oAl TS ST /SPACE FOR ROUGH WORK
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70. HEARAA Hgwd devla eete faum faam =
(a) TEFAH g WIUS FHIam.
(b) THET WEIHOIGTER TAIIS IV T SAfokre] JeAH= = YR % .
() fafvicemn FomER 16 9gAd T80 R Tade Jedsl Fedisea wfaasnia
HAfYHR ATTE el
G DI/t faum/A SR SR/a ?
(1) & (a) (2) e (b)
(3) (a) =N (b) (4)  (a) = ()
Consider the following Statements regarding the appointment of Chief Minister.
(a) The Chief Minister shall be appointed by the Governor.
(b) In accordance with the conventions of the Parliamentary System of Government,
the Governor is free to appointment any person as Chief Minister.
(c) When no party has a clear majority in the assembly, the Governor may exercise his
personal discreation in the selection of the Chief Minister.
Which of the statement/s given above is/are correct ?
(1) Only {a) (2)  Only (b)
(3) (a) and (b) (4) (a) and ()
71. TR TAGIH! Hod] HRORE AHIFR a5 & ehd ?

(a) TTHYETET ATgeA AUl GEUENT .

(b) TIHYERR TS FHaed TR TSTITH HET ATl

() TmYaEd ey afbde e e ge w{d T
(d) wmTEER Al At Afus s e e

g faur/a faer.
(1) & (a) (2) B (a) I (b)
(3) T (o) IO (d) 4) (@), (b), () =0 (d)

For which of the following reasons, can the State Government dissolve a Gram
Panchayat ?

(a) If the Grampanchayat is Misusing its powers.

(b) If the Grampanchayat is Unable to discharge its duties.

(c) If the Grampanchayat does not carry out the directives of the Panchayat Samiti.
(d) If more than 50% of the seats in the Grampanchayat are vacant.

Choose correct statement/s.

(1) Only (a) (2) Only (a) and (b)

(3) Only (c) and (d) 4) (@), (b), (c) and (d)

THoeAT THIATEET AT /SPACE FOR ROUGH WORK
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72. iR syl EEetE FHon fauE gee o ?
(1) R STERT= SISl =TT e odl 44 1.
(2) iee U SETE AN FHENTE W HO S, deg] HepqH N AW Fiedd
IO HE Ve .
(3) WIS HOGREETE URETEA ¥ 2011 T SHIUHEAT U FOS R,
(4) TSt TEE AR
Which one of the following statements about the ‘Delimitation Commission’ is false ?
(1) The order of the Delimitation Commission cannot be challenged in a court of law.
(2) When the orders of the Delimitation Commission are laid before the Lok-5abha, it
cannot effect any modifications in the orders.
(3) The present delimitation of constituencies has been done on the basis of 2011 census.
(4) None of the above.
73. TSI 3TT% - 167 AH WO@Us! TEAHeA] Tl Facqial THEs Foel e ?

(a) TS FHESTA T Bhees wd fofa Tsaues wafam.

(b) AT HIFHISTAT WG ToauTe Hite o Hifedt Tegarard O,

(c) icrSIosh faUM 99q WX FIoArgel Tsadreidt gd Gt S,

(d) TEREn FEEad qmE i Ser sfe u TR thweer faenfatmg we e ®
T Hifiaears a1en are! HiaHeeran fa=mud 3=,

I I
(1)  (a) ST (b) 2) (a), (o) =T (d)
3) (a), (b) 37T (d) (4)  (b) ST ()

Which of the following are included in Article - 167 of the Constitution, dealing with the
duties of the Chief Minister ?

(a) To communicate to the Governor all decisions of the Council of ministers relating to
the administration of the affairs of state.

(b) To furnish the information called for by the Governor regarding the administration
of the affatrs of state.

() To take prior sanction of the Governor for the budget before presenting it in the
Legislative assembly.

(d) If the Governor so requires, to submit for the consideration of the council of Ministers
any matter on which a decision has been taken by a Minister but which has not been

considered by the Council.
Answer Options :
(1) (a) and (b) (2) (a), () and (d)
(3) (a), {b) and (d) (4) (b) and (c)
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74. THTYHG GUIETE At Aifaw qEie faumig s@ra faum/~ S/ s
(a) HAEMHRUYY GIHEM TEEHS TG STHU HTE QAR ) U S8 Haw.
(b) SR GAYYITE TIGHS HEH SIS T 4 Wa: 9 GHIRR - B[ H JTEdr.

() THEYNE THITE A § TIE 1A% Teiehles Yeion STHAMT WU STEA8TIg {[uevaa!

e 3THa.
TatEr I
(1) (a) (2) (b) G (© 4) (a) 3709 ()

Find out the incorrect statement/s about the Leader of the House in the Rajya Sabha.

(a) Normally the Prime Minister nominates a Minister who is a member of the Rajya
Sabha as the leader of the House.

(b) If the Prime Minister is a member of the Rajya Sabha, he acts as the leader of the
House.

(c)  The leader of the House in the Rajya Sabha Chair’s the House when the Chairman
is on long leave.

Answer Options :

@ (2) ® 3 (© (4) (a)and ()

75. UEMEd TS e Ufecdierd HeAeT ool (5 QU ¥2 Gesil shivmd ?
(1) 71 &t =& gedi (2) 729t e gekil
(3) 73w gowd (4) 74 o e goEd

Which of the following amendments was the first to give a Constitutional Status to the
Panchayat Raj System ?

(1)  71% Constitutional Amendment (2) 7274 Constitutional Amendment

(3) 73" Constitutional Amendment (4) 74th Constitutional Amendment
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76. ‘g MfdH FENHR GIEetH HING Hew= ST e ?

(1) Gl et ga1 ol g feodl S

(2) wd aie T Heien U ST,

(3) R IS GGG o SR e .

(4) wleUE Wb

Which of the following is the main feature of ‘indicative economic planning’ ?

(1) Targets are set even for the private sector.

(2) There is an element of compulsion in planning for all sectors.

(3) Targets are set for only Public Sector.

(4) All of the above
77. WISIGUH! UG HT ST SIS TUH S i, SN T A TR A& 3791 fAEE (combination)

YA i S el IR IOl Ud 3G Fehial €YVl FRIGH aR FT o
(1) YAt 9% (2) IUEA Yl T
(3) wHufe =% (4) oRFaH

A curve indicating alternative combinations of two categories of commodities that can be
produced when all available factors of production are efficiently used, is called
as :

(1) Indifference Curve (2) Production Possibility Curve

(3) Isoquant Curve (4) Lorenz Curve
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78. @ole faun afds o anfor snfde famm ameie wewRl dsitdie .
(a) e ARIVER SN fasm T el
(b) T T (Tl sivt) wuTe B S e a] Y, anfeler famrm e,
WISUHT FIOE TS ST A7 2
(1) (a) <707 (b) S fau™ AR 3. (2)  (a) 201 (b) S fau Tw= a7
(3) T fauM (a) TS AR (4) R faum (b) TS AR,

Following statements are related to the difference between the economic growth and
economic development.

(a) Economic development without economic growth is not possible.

. (b) Trickling down effect brings about economic growth rather than economic
development.

Which of the following options is correct ?
(1} Both (a) and (b) statements are true (2) Both (a) and (b) statements are false

(3) Only statement (a) is true (4) Only statement (b) is true

79. NG WoeUER! FHIORT 1 3790 URfedE 90F R S odd TRSIE IRTEedl S
I ?

(1) "y e (2) I AR
(3) e yHIEe qifee (4) =oUR Td

Which of the following concepts of poverty represents a situation where even basic
necessities are missing ?

(1)  Absolute Poverty (2) Relative Poverty

(3) Mass Poverty (4) All of the above

T HETEGS AT /SPACE FOR ROUGH WORK



A

39 M13

80. WSS KU Ty guet sy’ fediwtomrs gofq &g ?

(1)
(2)
(3)
(4)

TR STETEAEA qof ISR,
I g3 SUHHe Ol ISR,

Which of the following statements describes the ‘macro economic’ stabilisation ?

(1)
(2)
(3)
@)

Moderate inflation with full employment.
Low and Stable inflation and sustainable fiscal and balance of payment position.
High growth rate of economy with balanced budget.

High growth rate of economy with full employment.

81. WHSIH HIVE STFASH 1991 =1 “A&A i SRom=n’ ST =gt ?

(D
(2)
3)
@)

SARERfiTe REmT g T,

[rE{TR &S iR HaTS Fer T,
Husitdt MRTP #aia1 I Ho.

SR FREM TEHA STarEme ST,

Which of the following is not a part of ‘New Industrial Policy” of 1991 ?

(1)
2)
3)
(4)

Abolition of industrial licensing.
Dilution of role of public sector.
Scrapping of MRTP limit of assets.

Government Control over sick units.
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82.

40 A
Tamar= 219 o= SRS faveo S ST 3 HalHe .
(1) oATH (2) FIH Th
(3) HHU WES Toh (4) frfom 9%

In the literature of Development Economics, a graph which is used to analyse the income
inequalities is called as

(1) Lorenz Curve (2) Kuznets Curve
(3) Aggregate Supply Curve (4) Phillips Curve
83. il srarT fere¥d Ais WSOE! HI0M ?

(1) oo feeye wR e fean

(2) e s R g e

(3) e e W fewe e

(4) T {efizae g fewe

What is the long-form of NITI Ayog ?

(1) National Institute for Technical India

(2) National Institute for Transforming India
(3) National Institute for Traditional India

(4) National Industrial Transformation Institute
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1990 WY easaese Adl fam fdvie & siftm fammr=n 17 weiat 1| da. € 3 %
THBYRT I ?
(1) <rergs, wvedar 3o TgumETE g .
(2) SeEEdl, JE ST TEOAETET SSi.
(3)  UEINHETET S, WeRa 7o et faw.
(4) deigs, 9 snfon TEviEET g .

Human Development Index adopted in 1990 was based on three end products of
development. Which of the following represents these end products ?

(1) Longevity of life, Sustainability and Standard of living.
{2) Sustainability, Knowledge and Standard of living.

1

(3) Standard of living, Literacy and Economic Growth.
{4) Longevity of life, Knowledge and Standard of living.

85.

THU BhGEAY hIHhISl FATT Biehidl [6EH1 AGeA STl fhetd a8 3. 91 Hehead
FUH GIETSUHT HIOE H F ?

(1) DFAANTTIR I 2) VHEEN FHT

(3) DHHEE TEURTRE (1) VEEER T

Which of the following concepts denotes that the rise in the rate of growth is due to rising
share of working age people in the population ?

(1} Demographic Dividend (2) Demographic Transition
(3) Population Explosion (4) Urbanisation of Population

86.

‘qiegd] ofvs IM-Tadtyl &0 T fem’ I foEiy wendie YRane SieIr=t SRl Qo=
TR @ 0 378 ?

(1) faf= <= (2) NF TES

(3) W (4) <TRIVIE RIS

Who is the writer of the book “Poverty and Un-British Rule in India” which describes the
major causes of poverty during the British Rule ?

{1) Bipin Chandra (2) G.K. Gokhale
(3) Mahatma Gandhi _ (4) Dadabhai Naoroji
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87. TGl ATt anfn fAatdeh el sracean oRan faawuase @ioiotsl o 994 atte

EIGE;
(1) = G qesas (2) AT TR q2Eg
(3) AR TSN AT (4) wigaeh T qeEe

Bv which of the following terms the statement of accounts related to the exports and
imports of goods is known ?

(1) Balance of current account (2) International Balance of Payments

(3) International Balance of Trade (4) Balance of Capital account

88. VRO Fu<E Uad He<dTE Tid WIoeUsHh! HIvr ?

(1) TRt FIGRE = (2) HER ==

(3) O W= (4) eI AFOHHS SO Fod
Which of the following is the most important source of savings in India ?
(1) Private Corporate Savings (2) Government Savings

(3) Household Savings (4) Savings by foreign nationals

89. T TSz AR 2000 T 790 Foodl TgFAT] fahaeamy WSeush! FHId 2T ATer ?
(1) =gy e (2) ST g Sfa
(3) WY & HEfEw (4) TR featat @t

Which of the following is not the part of the Millennium Development Goal, adopted by
the United Nations in September 2000 ?

(1) Eradication of Poverty (2) Reduce Unemployment Rate

(3) Reduce Child Mortality (4) Ensure Environmental Sustainability
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90. WW,WWWWmWWWWW
YT e SIOoUH! hiow 2
) 37w féuis
) b T e
(3) o smmrar R
@) Tonfaums amet faewm fdws

Which of the following concepts includes the three critical dimensions for women viz;
reproductive health, empowerment and labour market participation ?

(1) Gender Empowerment Measure

(2) Gender Equality Index

{3) Gender Inequality Index
)

{4) Gender - related Human Development Index

91. WOGIH! Hordl Ffaar tfafE FTR ST IEE! §H- SrE fGHE™ 99 (model)

AiSS ?
(1) SR THY () wie-IR
(3) o=Y, AW GEH (4) =Y T TR

Which of the following economist has propounded two-sector model of development for
Surplus-Labour countries ?

(1) R. Nurkse (2) Herrod-Domar
(3) W. Arthur Lewis (4) W.W. Rostow

92. 2= S fawmEmie fawonade YaauEe Ted, Teoys! Sl FHE qies ?
(1) R gER (2) ds=g Yeed (3) AP ASy (4) sfew foyy
Who has emphasised the role of investment in education in economic development ?

(1) G. Haberler (2) T.W.Schultz (3) Michael Todaro (4) Adam Smith
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93. wRareAl ST for WA 1966 § 1980 =1 HOES _ AN e W,
(1) WA AR IR U= H0ar Fs
(2) ¥R SEie e
(3) it guRoi=n #ie
4) i fafasiwmn =

In the process of industrial development of India, the period between 1966-1980 is known

Period providing strong industrial base

Period of industrial deceleration

(1)

(2)

(3) Period of industrial recovery

(4) Period of industrial diversification

94, @A faue faarm =0,
(a) SiEifirer foae HraaT, 1947 7Y WS IO .
(b) = HrEE, e faameren e qRE T
(cy T I, e foaeEren aHers! aiF s,

T I
(1) WK (a) TS . (2) (a) 3 (b) TR 7T
(3)  (b) M (c) A AR (4) =S TE faar s TR,

Consider the following statements :

(a) Industrial Disputes Act, was promulgated in 1947.

(b)  The act, provides procedure for investigating industrial disputes.
(c) The act, provides procedure for scttlement of industrial disputes.
Answer Options :

(1) (a) only is correct (2) (a) and (b) are correct

(3) (b) and (c) are correct {4)  All of the above are correct
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95. WAGYH! HIU fourt o Wer' ' fehar sifely iR A1 v Aol A ?

1) HF TERUSH WEHREg .

(2) TH SASRISA TR T el

(3) HE-FETETA AHY ASALUSH AT,

(4) T SIS TR & G e

Which of the following statements describes the meaning of “Laissez Faire” policy ?
(1) Regulation of free market by the government.

{2) Non-intervention of government in free market.

(3) Free market forces are allowed in non-strategic sectors.

(4) Free markets are not allowed in any sector.

96. WA S 6l e HUArTE! 2009 9 A dgeRt A Woietw! ward
T feRE Fro ?

(1) TFEEEE SR helisER SHfd 3au,

) 7wl onftn vl e S e JrETe s,

(3) TETEEEST HaS | S ST EEfer Hia Sam.

(4) Togo snfn srrerede @l @l ¥ RERE sreia 9EiaE &l

What was the major recommendation of Tendulkar Committee of 2009 regarding new
definition of poverty line in India ?

(1) Defining poverty line based on calories.
(2) Different norms of poverty line for rural and urban areas.
(3) Poverty estimates to be based on private household consumption expenditure.

(4) Inclusion of private expenditure on education and health in determination of poverty
line.
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97.  fomedt faermr wrafes 3feaw @dets! Hvd ?

(1) =ERifEr enfds faem
2) o enfds fawm

(3) TAEE S

(

4) ST DI TG

Economic development without inflation

Environmental Conservation

\
}
2)  Stable economic development
)
) None of the above

98. iR Hod I TRATEIEE HahouH] WIGeush! B0l AGa9H To FieH ?

(1) e, FehEe 2) TH W

(3) WU A (4) OIS e

Which of the following economist has propounded first the idea of universal basic income
for India ?

(1) P.R. Brahmananda (2) AK Sen

(3) Pranab Bardhan (4) Jagdish Bhagwati

99. BATIR HTHA! U HA ?
(1) oM 3 fafa Foem 71
(2) AR Aol Fel el 9 qm
(3) e Tt e A Taw
(4) =dw uwd
What is meant by Composition of Trade ?
(1) Goods Imported and Exported
(2) Countries with which trade occurs

(3) International Payments made arising out of trade
)

(4) Al the above
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100. 31 Fedat 2004 8 widfte e e oA o Tfvae oo,

(7)) (= JE W (R))
(a) Y= S i 203.86
(b) efemm (i) 64.62
(¢) faer (i) 169.04
(d) e (iv) 88.29
qrg e o,

@ ({) (g (9
1 @ @ @) @)
2 60 @) @) ()
¢ @ @) @@ ©
4 @ @ @ )

In 31% December 2004, the following states have Fixed “Maximum Wage Rate’.

(States) (Maximum Wage Rate (X))
(a) West Bengal i 203.86
(b) Haryana (1) 64.62
(c) Bihar (i) 169.04
(d) Maharashtra (iv) 88.29

Match the correct pair.
@ ® (@ (@

o 6 @ @) G
@ O v @ @)
3 @ @) @) @

@ @ @) @O ()
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Al — (7% 1 9879 Y2....)

) weAgfeaay fafed Foow faftre Softe 90 M (TF 9%) F9. qygiaeseaioiaa Saafases o
T HRE FE HH hoA T T FOASH REH FS IR, W UG THEG § AR SHAUER
YR S Fee ' qieined S IRuER Siay SoaEmEes SHiRm-82 ' e TR $REE
FAUAT 3 I SNl S AT U gute e iy fhen 39 Us eSR Wi e fdw
U gE.

(@) T guiEwRER s fafes FOS o duenEoR IHGERE € YTt W slet TeeRaEet
HEA FOAE GEFTT S, WIY GHST HeTaTet WIUATgEl SHEATa SIeAr IR Hi- 1
TAMSIFRTFS 7 FoUwEr Wa T A9 g,

HAT 99
I REE 201, TR 90 T HUEEE] B0 ST YEaE O 2
(1) T TaEe 9 () IxatEr femmErR
@) T UHEE U (4)  TITEFHS TES

B O A S (3) T UoERs O o o, e 91 veE SW O (3) BRe, g
HOTRHT 9 %, 201 FHS S (3)" % Fde i sEidd F6T et v

w20t (D @Q @ @
HI G5 FEGE GRS WEE YEE g SUGRNE @ g et Eeen
TE STl YIEY Ao aTadd, U | wnEe 9 anre T
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